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Remember that no docurnents or calculators are allowed during the test. Be as precise as possible in
your workl you shall show all your work to deserve any of the points assigned to any question. Answers
ui.th,ou,t the steps leadi,ng to them won't get anE credits, Do not cheat, otherwise I will be forced to give you a
zero and report your act of cheating to the University Administration, Good luck,

l. [20] Compuration of lptcgrals; cxacl value shall bc provjded for each integral.
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d) If /(z) : H, find the average v:r,lue of / ou [0, 1].
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2. 171 It F(n): * lr*' 
1n(1 +2t)dl, use part 2 of the fundamental theorem of Calculus to find its derivative F/(z)

What is F(0)?
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B. [3] if |lu t@) d,r : -e, then .[f f G * ar) da :
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4. fBomrs 10] a) Given that a : 0 and b : 1, use those values to express the following limit as an integral, but do not
evaluatc thc intcgral: t
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b) \Vrite the integral ff sin(e') dz as the limlt of a R.iemann sum, but do not evaluate the integral,
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6. [8] a) State the first part of the Fundamental Theorem of Calculus (FTCI).
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7. l7l A projectile is fired vertically upward with the initial velocity of 16ft/s from a tower 160ft high. The acceleration
clue to gravity is g : 32n1rz. a) How long rvill it take the projectile to reach its maxirnuur point? b) What is the
nraxirnunr hoighl?
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